Genesis 2:5





- this is the transitional use of the conjunction W, meaning “Now” plus the masculine singular construct form of the noun KOL, meaning “all, every, any” plus the masculine singular construct form of the noun SHITH, meaning “bush, shrub” plus the definite article HA and the masculine singular noun SHADEH, meaning “open country, field.”  The phrase is translated “Now any shrub of the field.”
- this is the negative adverb TEREM, which means “not yet” plus the third masculine singular qal imperfect from the verb HAYAH, meaning, “to be.”
- this is the preposition BE plus the definite article and the common singular noun ‘ERETS, meaning “on the earth.”
“Now there was not yet any shrub of the field on the earth.”
- this is the continuative use of W, meaning “and” plus the masculine singular construct form of the noun KAL, meaning “all, every, any” plus the masculine singular construct form of the noun ‘ESHEB, meaning “green plants” plus the definite article and the masculine singular noun SHADEH, meaning “open country, field.”
- this is the negative adverb TEREM, which means “not yet.”
- this is the third masculine singular qal imperfect from the verb TSAMATH, which means “to sprout, to spring up, to grow.”
“Now there was not yet any shrub of the field on the earth.  And every green plant of the field was not yet growing.”
- this is the casual or explanatory use of the conjunction KI, meaning “because” with the negative LO, meaning “not” plus the hiphil perfect third masculine singular from the verb MATAR, which means, “to have or make rain fall.”
- this is the sacred TETRAGRAMMATON JHWH, which is pronounced ADONAI, and means “Lord” plus the divine name ‘ELOHIM, meaning “God.”  It is translated “the Lord God.”
- this is the preposition ‘AL plus the definite article and the common singular noun ‘ERETS, meaning “upon the earth.”
“Now there was not yet any shrub of the field on the earth.  And every green plant of the field was not yet growing.  Because the Lord God had not made rain fall upon the earth.”
- this is the continuative use of W, meaning “and” plus the masculine singular noun ‘ADAM, meaning “man, mankind, human being” plus the adverb ‘AYIN, which means:

1. and they were not there, is he not there? is not there to, nothing, like nothing

2. -less, without  3. it is not there

4. without understanding  5. it was not permitted to  

- this is the preposition L plus the qal infinitive construct from the verb ‘ABAD, which means “to work, till, cultivate.”
- this is the sign of the direct object ‘ETH plus the definite article and the fs noun ‘ADAMAH, meaning “ground.”
Gen 2:5 corrected translation
“Now there was not yet any shrub of the field on the earth.    And every green plant of the field was not yet growing, because the Lord God had not made rain fall upon the earth.  And man was not there to cultivate the ground.”
Explanation:
1.  This verse describes the conditions of the earth prior to the creation of man and at the beginning of day three of the restoration of the earth.  Gen 1:10-12, “And God called the dry ground ‘earth’ and the collection of the waters He called ‘seas.’  And God saw that it was good.”  “Then God said, ‘Let the earth sprout vegetation: plants producing seed, trees of fruit making fruit according to its species in which is its seed on the earth’.  And it was so.”  “And the earth brought forth vegetation, plants producing seed according to its species, trees making fruit, in which is his seed according to his species.  And God saw that it was good.”
2.  The purpose of this verse is to connect the production of the earth and the cultivation of the ground with the work of man on the earth.


a.  There was no need for any vegetation without the existence of mankind on the earth.


b.  Plants were made for man; man was not made for the plants.


c.  Without the existence of man in God’s plan, no plant would ever exist; so much for God’s view of environmentalists.


d.  There was no need for plants to grow until man came along to tend and cultivate them.  This would not be necessary until after the fall of man.  So this verse looks forward to a time after the fall of man.


e.  There was no rain upon the earth until the universal flood in Gen 6, well over a thousand years after the creation of Adam and the woman.


f.  We do not know how long Adam and the woman lived the Garden of Eden prior to their fall, but we do know that men generally lived to 900 years or more.  So the earth was watered in a different manner for a long time before rainfall was used as the method of watering the ground.

3.  In verse 15 we shall see that one of the purposes for man in the Garden of Eden was to cultivate the plants there.


a.   Adam was a gardener.  This was the second profession of Adam.  The first was a professional philologist--the science of language and words.  Adam had to give names to everything.


b.  Adam did not have to work hard to get the ground to produce for him.  He was more of a caretaker or gardener than a farmer.  Our Lord planted the garden.  He did all the hard work.  Adam reaped the benefits.  He had to prune the roses (which had no thorns) and the fruit trees from time to time, but nothing strenuous.


c.  Adam had work to do, but it was neither hard work (that did not come until after the fall) nor was it boring (he could take time off any time he wanted).


d.  But the emphasis in this verse is that there was no point in having any plants on the earth without man there to take care of them.


e.  Adam did not even have to water the garden; for God did even this for him as we see in the next verse.
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